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V Semester B.Com. Examination, December - 2019

(CBCS) (F+R) (2016_17 and,Onwards)

COMMERCE
Paper : 5.2 International Financial Reporting standards

Time : 3 Hours Max. Marks: 70
rnsbtctlon : Anstaer should. be compretelg either in Kannqda or Eng,&,sh.

aqFrt _o/sDcTroN_A

1. o3n{oodd.o ou$ wd-qid*iieri erudo,cr. gie wd-gidgro odd: erodriq;b. sx2=ro
Answer any five sub-questions. Each sub-question carries two marks.
(a) IFRS d odd: en:dedd$$* ge:,.

Mention any two objectives of IFRS.

(b) Ind AS-2 d giead !dd: aoddeib ?

What are Inventories as per Ind AS_2 ?

(c) opS aoddeab ?

What is EpS ?

(d) ifoFo cdbo.Dd oodded: ?

What is meant by Government Grants ?

(e) q?eddgd er:rl$ oJDddoddrd doet e,Doadddzi$db* dJbA.

Mention any four examples of Intangible Assets.

(f) rASB $$ GAAPddd*${ ado,$.

Expand IASB & cAAp.

I ol crz(zl p*rsnirz{\6, ..vv \J\^rv\,\ /!^.i oJoCmdd.n adcd: eruoodddrlg$4 gg,$,

Mention any two items of other Income.

llrilililililtiltiltil]tililt
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o3n{oodd.o d:uodr
Answer any three

drfrrodd deoaoxb
What is Interim
Interim Iinancial

2

czen - a/sDcTroN_B
dd{Ii9ri erugo&. dg dd4rto er6 soddq;b.
questions. Each question carries six marks.

I lillill illl|l ilt llill llill llft lill

3x6=18

2.

3.

IFRS d erd) eil-oabd-oorigab* io8ddDR adoA.
Briefly explain six limitatiorr" of tf,nS.

ddo dodd€db ?
Financial Report
report.

ca6o eG ud:d dod qDildgabJ dio:r.
? Mention the minimum components of

4. dt d$dod ai:o&Bo$od, dod0 d-oo9Jd
31.03.2019 d atlD&e

mdaDdOod a;od so.o$
noe.:S d:d1 aid,
eJe$d soa$ollSt
OeryoFde Foed d)eOd DA
Cie.sdd $a$F
daE dxb e^:Sd
e.)ul d.nea
tdde
aro6ri eJ6-ooi)
From the following Drepare a statement of profit or loss for the year ended31.03.2019 

"" 
p"iio*panies Act, 2}rc;,.

{

12,00,000
1,40,000

30,000
s0,000
80,000

2,2O,OOO
20,000
20,000
80,000

2013 d Siad enef dd eodo$$* doj'oo:).

{

12,00,000

1,40,000

30,000

50,000

90,000

2,20,ooo
20,000

20,000

80,000

Revenue from operation
Salaries & Allowaaces
Stationery
Interest on long term loans
Publicity
Raw material consumed
Discount Allowed
Depreciation
Rent Received



5.

6. z"od) Floddd dros de3 < 9,60,000 d:d: ioz3d idd9
dod&ojr: "ad€ oego$ ;o.ddddro < 3,80,000 d* dmoon^: d'oBd
t 35,000 d$d 4JOtud. erd9d d:od9o$D dt m*ddd erudoinertd
aod OdO dGtud.

7.

8.

Answer any three questions. Each question carries fourteen marks.
(a) IFRS e$qddel e.dz$d a3oloend dooo:ddd:* ado&.

Briefly explain practical challenges in implementing IFRS.
(b) IFRS d Odo$g eO€dd?rbd nod$rd$ erDo[,arbd efodo3oerlrld$4 AdoB).

Briefly explain the benefits of achieving convergence with IFRS.

(a) o3o{ooddn 14IND AS rld$r dio::.
List a:ry fourteen IND AS.

e?rodddd) doddoeoj: sil & ?rdDs.rg0ri$b Ind AS-37 d oao$g sJbdorl
dciDado$ OeroddTis$d nogddon &d01.
Briefly. Explain the disclosure of provisions under Ind AS-37, provisions,
Contingent assets & Contingent Liabilities.

(b)

ililililil|il|l|ffilillfrllll
H Oaot36" dodOo$ S Oaotiar dod0oS: de. 60 qrozi de$iidd:o
s)oeo$d. 31.03.2019 dod: S Oeo[^366 dod&cjr dJ-obC dt o€g
(a) ded: alodao$ 1,00,000 (< 10 de deodod; ded:rigb.
(b) mdad, oQ 01.04.2018 dod: t 80,000.
(c) 01.04.2018 dod enq3d ge))d < 60,000
(d) 31.03.2019 ddrd bd$ eroal { 1,00,000.
bGdd* e-Sddd baoiEoS:d:o dod:bGo9oo.
H Ltd. acquired600/o shares'of S Ltd. on 01.07.2018. The followinginformation
is available as on 31.03.2019 in respect of S Ltd.
(a) Share Capital : 1,00,000 equity shares of { 10 each.
(b) General Reserve as on 01.04.2OI8 - < 80,000.
(c) P & L A/c balance (Cr.) on 01.04.2018 - { 60,000
(d) Net profrt for the year ended 31.03.2019 - < 1,00,000.
Calculate non-controlling interest.

T 0&l$6" dod0oJ:
{ 96.000. €dro.ocb' {

aird: dooot^ld $s$r
ajdo$$4 { 4,10,000
duro"d dd dodbaooro.

D e,J

T Ltd. has a plant whose original cost is < 9,60,000 and accumulated
depreciation amounted < 96,000 Another company sold a similar plant for
< 3,80,000 & the selling expenditure amounted to { 35,000. The Management
has determined the value in use of the plant of { 4,10,000.
Calculate the Impairment Loss.

aq'o?i - A/sDcrIoN-c
oJn{ooddn *,Jo& dd4i19ri etDdoA. de ddJf.,o d6me;c* erodrlgb.

GN-341

01.07.2018 dodr
A *
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dodd ebd: zJ@dd de. 10 €.9Q - o G -

9. (a) T oturJ6' 6o.Lo$ 3do woodoo dFjdd* z-ocb o$ogd${ { 2,20,000 d?f,
droG sJoeorrd c)q * d4dg csT ( 39,600 dJoddp ieod. dodOol>
Addlod9 d;ooou:d dPe-r^d d:eej dori aod8 dr-od:d dedoJ:O di csTdrrd

4r0 . . -&
a-ommrlOd.
add $a$rr19: dl oe8 .ad:

xnil# xiooii { 4,500/-
dddtr xbod ( 4.000/-
uddGd $a1>r { 3,000/-
dddd oodo dodao$d uoema$ dz"S,< 1,500/-
^-'^?-:J\ "^':.r'.i6..fif, ssde&d d:eej lio:,c ?fE arorlild izJ. dal { 11.000/-! -1, W 

9l! Cr\, \ \J ! q"J\. .AJc 
O , 

ne, ZJ

Ind AS-16 qir-cd o3:o$d dejo$${ dod)bad)o.
T Ltd. has purchased an equipment for its manufacturing unit. The
price paid for the equipment is { 2,20,000 inclusive of GST of t 39,600.
The company gets a credit of GST while calculating tax payable on
finished goods sold.
The additional cost incurred are :
Freight { 4,500/-
Customs duty ( 4,OOOl-
Installation expenses < 3,000/-
Estimated cost of dismantling and removing the item would be ? 1,500/-
After the equipment was put into use < 11,000/- was spent for cleaning
the spare parts.
Calculate the cost of PPE as per Ind 4'5-16.

(b) Excel Ltd. dod0oJ: odder d?dd$4 dod:b6ogoO.
(i) { B dJJr$. de. s ae-:agdq m,oed drd{ dodennd $d) edd ede

10 ddrrl9c.
(ii) { 3 Aroeu3 10 ddrzl$ IDBI FDed dr.ne.:d

ddr8.
d

(ii i) {3droeo3 Edo"'o
) J - J
cJ cAF 6,,

6

uDdotr0od a:ed€d eod droerd drd{ uQdd de. 10 gie

(iv) me.:d$d doz3d dzfl < 15,00,000.
(v) IDBI Food ie-td d:d: 5p,o3: dea'o d:o* - me;d d:eeJ de. S.
(vi) Ai-oedgd ilrcbmdg getuo$dtr - de.5.
Calculate the borrowing cost of Excel Ltd.
(i) ( B crores arranged by issuing 87o debentures repayable after

10 years.
(ii) ( 3 crores by a loan from IDBI with 10 years term @ interest of

10% P.A.
(iii) < 3 crores overdraft from Canara Bank @ interest of 10% P.A.
(iv) Cost of issue of debentures is { 15,00,000/-
(") Processing and consultancy charges for IDBI loan - 5% of loan.
("i) Debentures are repayable at 5% premium.



rffirulffiillllillll
10. (a) Kavya Ltd. dod0o$ 31.03.2019 d d5ob,3

2ol3d erGd:Q erdd sDei-d{ aodoSdl
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dr dddodod "ad. dodO r-oocJd
!9L lcru,iJ.

(

(b)

d:aoot^:
daB dxbzid $o€o
ddd dcrop

.?)

e-S sozid aDzS:r
aadir droGd ddd:
daodt*:i1$ e:dodd aorod:

E.e

daqdfgtid ero8d) o.oqd:
aroGri el6"o$
r ? a o  r p l  I  a r  9 - ? r/vvc^, v qJc/$^rb

de.:dnodd qJadi bQ do97i
aJodod Foed Dq
mo d$d e^:Q
.add $23:r
ndd9
eioooj: doti
elaraoO ilod
erDdql;aeridsb
ooerord $23:r
dr d$dod dobSoerod 31.03.2019
(dodO 6.o9)d 2013 d 5i6Do)

16,00,000
7,00,000
3,00,000
1,00,000

40,000
1,80,000
1,00,000

40,000
2,00,000

50,000
30,000
30,000
10,000
40,000
75,000
50,000
80,000
60,000

dod: dcoroio do;63 daiata$4 doSroo:J

DEBIT { CREDIT {

r$,a* e{9,. ?  - -  - j

^ 5 \ o J - J ^ . J  ^ ^ a
iue\9OcJCr..O \t^J

znO dnadd$:

aaOoJre.:d draadzisb

ao^aodood udzierod
D

d)oadS)

iddr cnmd:

OJ| | lr!

12,00,000

4,00,000

4,00,000

4,00,000

5,00,000

8,00,000

2,00,000

ded: z,.lcda-09
- . {s- l  \F..!e cJ.Je oJ6 Nw

. - " t  - .1- i  a-4
vuqi-Nc$ o(Je !:/

aoOo$e.:d dodroori

eoO dodnoori

10,00,000

6,00,000

6,00,000

10,00,000

7,00,000

39,oo,ooo 39,00,000

P.T.O.
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(a) prepare a stth.' r"il;;;"J.tri:, ;',H#j il j"il,
Sales
Purchase of raw Materials
Commission Received
Carriage Inwards
Returns Outwards
Opening stock of Raw materials
Closing stock of Raw materials
Rent Received
Salaries to Employees
P.F. contribution to Employees
Interest on Bank loan
Interest on Debentures
Sundry expenses
Depreciation
Income tax paid
Excise duty
Consumables

l lfilllt f]lfilff llllillffl lililfil
i11". Compaaies Act, 2013 fromtf ie year ended 31.03.2O1g.

{

16,00,000
7,OO,OOO
3,0O,000
1,00,000

40,000
1,90,000
1,00,000

40,000
2,00,000

50,o00
30,000
30,000
10,000
40,000
75,000
s0,000

Factory expenses 8o,ooo
(b) From the follo*irrr rrror.''a,.a ̂ ^4^.-, 

60'000

under 
";"t;;il*ff,tfit, 

a.statement of fi nancial position on 3 1 . 03. 20 1 9

Tangible Assets

Intangible Assets

Current Investments

Other Non _ current
Investments

Trade Receirables

Stock

12,00,000

4,0o,o00

4,00,000

4,00,000

5,00,000

9,00,000

2,00,000

Equity share CapiGl
General Re serve

P&LAlc

Non-current Liabilitie s

Current Liablities

1O,00,000

6,00,000

6,00,000

lO,OO,OOO

7,oo,ooo

39,o0,ooo
39,00,000
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11. (a) X Ltd. $d: y Ltd. 31.03 .2OLg d

dadmo€

{ 10 €.3 deodod decb eJodd?$
01.04.2018 dod: xodado 0e
0i.04.20i8 eroqld 9or*
2018-19 ddrd od$ en{
zoO do#rood

eC:rrlgjJ
J

:6d erlrl$b
30,000 Y Ltd.

ded>dsQ d.na*
idd: oasod:

J

srodour ge))

7

dsoaDxb do:rg
x Ltd.

{

10,00,000

3,00,000

1,00,000

4,00,000

1,00,000

6,00,000

3,00,000

2,00,000

P Ltd.

16,00,000

80,000

4,00,000

2,90,000
EFqooo

8,00,000

8,00,000

7,60,000

GN-341

(b) P O.tr[^3cr $q a Otudcrri$ 31.03.2019 d arodotD do,Rd.9, dr dgdodod.adrdd :
d"odroo*

x otuo3c5' 01.07.2018 dodr y oao[Jcf
g"$ddd &soiEqb$4 dodbGogoO.

decb e";odao$ (< tO gi8 decb)
01.04.2018 mdod, 0Q
eroefd 9e.:r*
zsaO dodroot

elyt€:
oJro$ d:d: erudddeo
Q Ltd. d 60,000 decbrid$ d,n6d
zroO er:rdg1:

Q Ltd. d eroqJd 5o:* 01.04.2018 docb
P Ltd, Q Ltd. d d€&ddd)4 alofoAd.
0o$ogimo vn{atd,:o dod:b@o9oo.

19,00,000 10,00,000
dod0o$ decbdg$* $oeo&d.

19,00,000 10,00,000

8,00,000 4,00,000

ds dddodod ed
Y Ltd.

{

4,00,000

I,00,000

40,000

3,00,000

1,60,000

2,00,000

4,00,000

Q Ltd.

9,00,000

1,20,000

3,20,000

3,20,000-1560100

11,20,000

4,4O,OOO

&add*

23,60,000 15,60,000
t 1,20,000/- erRd). 01.01.2019 dod:

I

P.T.O.
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fhe statement of financial position of X Ltd. & Y Ltd. as on 31.03.20191 "

'were as follows

Liabilities

GN-341

{a)

Shares of { 10 Each
General Reserve on 01.04.2018
P & L A/c on 01.04.2018
Profit for the year 2018-19
Current Liabilities

Assets
Fixed Assets
Investments in 30,000

shares of Y Ltd.

Stock

Bank Balance

Share Capital of t 10 shares
Reserves on 0i.04.2018

P&LAlc

Current Liabilities

Assets
Plant & Equipment

19,00,000 10,00,000
X Ltd. purchased the shares of Y Ltd. on 01.07.2018. Calculate the
non-controlling interest.

x Ltd.

10,00,000

3,00,000

1,00,000

4,00,000

1,00,000

6,00,000
3,00,000
2,00,000

16,00,000

80,000

4,00,000

2,80,000

8,00,000
7,60,000

19,00,000 10,00,000

8,00,000 4,00,000

Y Ltd.

4,00,000
1,00,000

40,000
3,00,000
1,60,000

2,00,000
4,00,000

Ltd. as on 31.03.2019.

Q Ltd.
(

8,00,000
1,20,000
3,20,000
3,20,000

4,40,000

(b) The following are the Balance Sheets of P Ltd. & Q
Liabtltties P Ltd.

23,60,000 15,60,000

' 8,00,000 11,20,000
Investment in shares of Q
[60,000 shares]
Current Assets

Ltd.

23,60,000 15,60,000
P & L A/c of Q Ltd. stood at < 1,20,000/- on 01.04.2018 p Ltd. acquired
shares of Q Ltd. on 01.01.2019.
Calculate the controlling Interest.

-oOo-


